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characteristic polynomial is

r 3 - 6 r 2 +It r +6

Do characteristic roots an rate , ra = 2
, rs =3

Slice n3 . 6 set H n +6 = Aa) ( r - 2) 1 r - 3)

So the solution has the form
An = L , in + da 2h + L } 3h

fend do , dads using initial conditions :

Ao =L = Li + 22 + L 3

{ as = S = it , + 2h +3 Ls

i. A z= 15 = I N ,
+4 At 9 L }

Solve these 3 simultaneous quotas :
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XAMPEAPPU.aioh.at#EOREM4An=-3an.i-3an.z-An.swithao=l,as=-2,az

dengue 1<=3

characteristicpolynomial23+3×2+3 x +1 ( Sona C, =-3 ,
G =-3

,
cost -1 )

= ( x +1 ) 3 ⇒ no = . 1 with multiplicity m =3

Solution is of the form :

an = (do + din + anmyth"

Use initial conditions to determine do
,
d.

,
d

Ao =/ = (do + d. . 0+2202 ) tip
a ,=2= ( do +2 , 1 + dzl ' ) th '

Az = - I = ( Lott ,
2 + Nz
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to
EQOAMON : Noel

,
a , =3 , Nz= -2

Solution of RECURRENCE RELAMON :

Anti3h . Ini ) × HP



Sowing HANOI Tower REC .

RELATION

He -H+n=2hmtt
Using theorem 6

to find a particular solution :

ki t=o,S=1n=€

characteristicpolynomial
: pH=x -2

roots of characteristic polynomial :

r - 2=0 ⇒€ see
.

to homogenous equation :

Str

artery
.

particular solution :

ftp.po.sn= pop = Po

Using Hn=2Hmt(once

surety
po=2po+n ⇒ p€

Sd of the form particular solutionHn=akanh=t+
An
AHDdsuginicialaonditiot

Here =

.tt
2h ⇒2€T

Hn= - til .2m

Antsy Tmpontndtiwitim
Solution USED AT

THE VERY END
.
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Annan ,
-

9anz+(m2+t)3n

s is root with me

As

dn=n4pmi+psn+pD3£


